goooobod oog1b bobd

1.f.a : line from above 0 00O OO
L.f.b.: line from below OO0 00O OO

p6, 14 1fa: €eQ = €O

p.6, 15 1.fa: Qf = O

pdl,21fa: 00 — 00O

p-35, 13 1.La.(0000): a,(2,2n) = au (2, 2) = a(2',2,) = a(Z, 2,)
p.37,3Lfb.: (226)000000ap a0 0 b,---5, 00000000000
p.49, 506 Lfa.: 7j(a) = T, (200)

p.50, 1 1.fa: (A = (PA

p53, 41fa: # — %

p80,13Lfa: 00 = 00 2o=0000000

p87,31fa: X = Q

p.113, 8 Lia: T'(Q1,.7) = C'(Xlg,.,,F)

p.147, 10 Lfb.: dpa(aj, 0Q) = dpala;,00Q) - PA

fu, fu,
p-160, 11 Ltb.: ==, — =—=-0%, ,,

9U. 9u.

p 177, 11fa: i=1,200 = i=1,2,U,NU, =000
p.184, 8 Lfb: SCK = SCk

p.186, 1 1.fb.: R(or) = R]o]

p-189, 5 L.fa: 0 = 0O

p.189, 6 L.tb.: 0 = 2/

p.-190, 10 Lfa.: Opo(zpr1) = Opo[zp+1]
p.190, 2 LEb.: fmv — f¥

p.191, 14 1fa: 20 = 0O (:000)
p.191, 14 Lfa.: 2,11 = 2;

p-193, 2 1.fa: 6 = (o)

p.193, 2 1fa: g = (p)

p-198, 13 1.fa: 0 = §



p-199, 10 1.fb.: dim, X = dim X
p-199, 10 Lfb.: dim, X; = dim, X

p.204, 13 1.fa.: §(2') = §(z")N

p.227, 10 l.fa: {r e X; ¥, #0} = {2z € X; S, # 0}
p.232, 15,17 Lfa: | = d' 02000
p.238, 13 1.ftb.: non = mon

.269, 8, 2 L.Eb.: 23%{ — %{2 02000
P.269, 2 LEb.: Y = 4+
Gk Ik

p.270, 3 L.a.: m{ — §}e{2

p-270, 6 Lf.a.: Xn: == 2i
j=1 j=1

p-279,8 L.fa: 00 = OO
p-281, 12 Lfb.: |- = |[-[|; (OODOO «000)

p.281,12 L.fb: 00 = 00O

p.298, 2 Lfa.: zn: %(o)z» > 827‘”(0)”,@ — 2zn: a—‘p(o)z +>
’ = c’)zj J ik 8zj82k J = azj J ik

p.298, 506 L.fa: ed = 6202000

p-301, 14 1.fa.: Q@ = X

p.308, 4 1.fa: C = C"02000
p.317,151fa.: g,; = ¢; (OOO0O0OO0 v 0ODO0O)
p.323, 7,54 L£B.: 90hy = 0dlogho (30 0)
p.328, 4 L.fa: Oy = Owne

p.328, 51fa: ke NODOD = OO

p-329,111.f£A: 00000,000 = 0O0O0OOO

0%

8zj 8zk (O)ZJ Ek

p.329, 11 LEA: WO = WOOODOOO zeM 000 (Drr X D) ((a)xanow



